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(ii) Least cost method or Matrix minima method <& S u:‘J‘E

1. Balance the transportation problem if not u:::-rigi_u:fl]lj,r bv adding a

dummy source or destination making 3", a, = X7_; b;,with zero
transportation cost in added cells.

2. Choose the cell with lowest cost and allocate the maximum feasible
amount x;; = Min (a; b;) in the cell (1. j). such that either the
availability of the source 5; 1s exhausted or the requirement at
destination D; is satisfied or both. If such cell of lowest cost 1s not
unique. select the least cost cell where we allocate more amount.
Adjust supply and demand across the row and column in which
allocation x;; has been made.

4. Repeat the process until all the available quantity 1s exhausted.
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Solution by Least Cost method: | :aJJI Jsl asy,by J=>JI
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(iii) Vogel's approximation method (VAM) ‘L&éﬁm d‘ﬁ ‘uuh
48

Balance the transportation problem if not originally by adding a
dummy source or destination making 3™ a, = »’7_, b;,with zero
transportation cost i added cells.

For each row and column of the transportation table. write the
difference between smallest and the next to smallest cost below each
column and on the right of the corresponding row. These differences

are known as penalties.
Row or column having largest penalty 1s identified and the minimum
cost cell 1n that particular row or column 1s allocated with the largest

possible amount x;; = Min (ay, by) in the cell (i. j). such that either
the availability of the source S; 1s exhausted or the requirement at
destination D; 1s satisfied or both.In case of tie for maximum
penalties. choose arbitrarily.

Adjust supply and demand across the row and column in which
allocation x;; has been made.

Re-compute the row and colummn penalties for the reduced
transportation table and make the allocations.

Repeat the procedure until all the requirements are satisfied.
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Solution by VAM 1 il J>>99 asuydos Jadl
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